PRECALCULUS Name /’2 y e QI//, ID: 1

4.2 Review Date Period

Find the measure of each angle. , . gy %
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State the quadrant in which the terminal side of each angle lies.

5) -285° 5n ol &’I]:'
QT R

9 /‘/”50 49
N2 g 4m
4 /_% G 18 . Gj]:_
.y - ;7
iz A7



Draw an angle with the given measure in standard position. 3300
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Find a positive and a negative coterminal angle for each given angle.
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State if the given angles are coterminal.
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Find the length of each arc. Round your answers to the nearest tcnth" 7/ /9%
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Find the area of each sector. Round your answers to the nearest tenth.
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37) The radius of each wheel of a car is 15 inches. If the wheels are turning at a rate of 3 revolutions
per second, How fast is the care moving? Express your answer in inches per second and in miles

per hour.
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38) The diameter of each wheel of a bicycle is 26 inches. If you are traveling at a speed of 35 mph
on this bicycile, through how many rotations per minute are the wheels turning?
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39) Ariding lawn mower has wheels that are 15 inches in diameter, which are turning at 2.5
revolutions per second. What is the angular speed of the wheel? How fast is the lawn mower
traveling in miles per hour?
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40) Two pulleys, one with radius 2 inches and the other with radius 8 inches, are connected by a belt.
If the 2 inch pulley is caused to rotate at 3 revolutions per minute, determine the revolutions per

minute of the § inch pulley.
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